S|
=F
H
Xt
=
i

& it &F (AR H % &)

SERK304E 4 H BT A

LRy ERIX ARER




N T
JVEN

T FE Pl B BANE | R B A & KA i I
R EB
) 1 FIEWNRE
A Ef X
1 FosNiRE
B Hh kA =X
] 1 H3 T R E
REFREEREE & D asE BHER 2V
1 FATNIRE
TE ) AUR X
1 H5 5 NAR
BB E T E K
1 F6 N E
EAREca X
1 BTENIRE
WA EER K
(1)
[EREIN G
1 EeENIRE
B BT X
1 FIFNIRE
preest 2V
1 5.1% (1)
e Tl % - X
[EREZ T4 @
(Ff E3F E53)
1 3)=
MR (& Ot Af) =X
(1) X0.35/(1-0. 35)
. (1)
el
=(1)+(2)+(3)
1 (5)=
— W =X
(4) x0.35/(1-0. 35) LA
SRS RS
8%
THEBUAE Y %8
BT E

AW T




B 1 ] 7 i

MO8
AR
ERC I
N R HLTNARE
& W (2 S To A I - O I e m | W m |wmEs
1) S5 s 1 :
100K A
2) Bk B O 1k H 1.9 5
227 U= M
EHAR

I



3 S AT

M U5)
—4
M)
N R BN
4 i A = AT | # w B il & % 1 2| B
&3 & 6 3
(B k)
S & 6 4
(B k)
&3 & 2 5
(B=EHE TR
i 2 6

SES
(B = PE TRHE)

[EREINGE Sl

I



BIERHREE & oD e B RHERK

. MO
M (Z®)
N =R IR E
5 W om | wm| m & | W 0 ST IR y—
H4Rg 3 7
s
P~ 3 s
e

[EEEINLE Sl

I



R AR

a M U5)
M (Z®)
N SN AN AR
% PR Hf7 | %% = B i 4 | i) 3| EAfE S
H 2.6 9
T S
) H 4.9 10
TEH SRR R E AR

T

AR G

I



o — A PE T E

. o)
M (Z®)
N 2R EENRE
4, % %oom || % & | i % # i 3R
H 0.8 11
T
= RE T H 0.9 12
FEER
EHES 3

I




N MO8
M (ZEw)
N 2R HRPRE
% PR i = HAL | % = B i & #H i} B HAE
E=0 1 13
1) 5525 T
=] 2 Hr ] X 2[A] 14
2) A
ES0 1 15
3) R A B
EEAE G

I



M U5)
— 4
M (Z®)
N 2R ETENRE
% T ®oom | wer| % & B i & 4 1t B | W 5
WAL g 24 .
AR 2

I




s M50
M (%)
N 2R EEERE
4 PN iz = AT | # A B i & #H 1 o HAHE
1500cc H 4 17

T A b EERE

EEREE G

FL#R




. M0
M (%)
N 2R FEIBPRE
& B Woom o || R W & B | W B |wmEs
= 1 18

DRZHEM B SR

EEREE G

I




Bl #*
No A H XA il PN BA - F
EIE=XERs3] 1.50 X m/A = i
BHEERE Hefl (A) 1.50 X M/A = |
" IDE 2 =2 (559 e il (B) X M/A = s
100G AT i (C) 6.00 X /AN = s}
= 5.00 X M/A = ]
it m
] ERERs] X M/ = &
FHEERE Berm (A) X M/A = as|
9 2) FkA % B OAERK H i (B) X M/A = ]
av 7Y — MG i (C) 0.40 X /AN = s}
Al & 1.10 X M/A = ]
7t &5}
] EXERs] 1.50 X M/ = M (104G 872 v
Bk i (A) X M/A = as|
(2 915 ) el (B) 1.50 X M/A = &}
3| 4R i el (C) 2.00 X M/ = M
= X M/A = s
7t a5}
gt / 10 = M1 dH7- v
] EXER5:]] X ENE M (1072
Bk A Bl (A) X M/A = 3]
GEIER) i (B) 2.00 X /AN = &}
4| NE i3 Hefifi (C) 1.50 X M/A = &}
& 1.50 X m/AN = M
it &)
it / 10 = M| EdH7Y
[ F AT 1.50 X M/A = M (1046872 v
Bk i (A) X M/A = as|
(O =P TR E) el (B) 1.50 X M/A = &}
5 | 4 i fefm (C) 1.00 X /AN = s}
= X M/A = s
7t =5}
gt / 10 = M1 d7- v
[ EXE= 1 X /A = | 10kE & 72 v
Bk A Brf (A) X M/A = 3]
(O = WE TR E) HEm (B) 1.00 X /AN = s}
6 | M i3 il (C) 1.50 X M/A = i)
Hifr & 1.50 X m/AN = M
it &}
it / 10 = H|1EH7v
| AT X /A = M | 10F&BE & 7= 0
BAfRIEE & D Berm (A) X M/A = as|
WHRERHMER Bl (B) 3.00 X M/A = s
T 4 R el (C) 3.00 X m/AN = 5]
= X M/A = s
7t a8}
Hak / 10 = | 1K & 7= v
] ExXER5]] X m/A = 1 [1ossRg 8 7= v
BEGRHEEET & D el (A) X m/A = ]
BB EHER i (B) 4.00 X M/A = H
8 | M HEA i (C) 2.50 X M/A = i)
Hfr & 1.50 X m/AN = M
it &}
it / 10 = M (1B & 72 v
] EXERs] X M/ = &
EH R Hefm (A) X M/A = as|
9 H Al (B) 1.00 X m/A = ]
el (C) 1.50 X /AN = s}
= 1.00 X M/A = s
it m
| FA T X M/A = &
EH RBRAEEER Hefil (A) X m/A = 5]
10 H el (B) 0.80 X M/A = ]
el (C) 1.10 X /AN = s}
Hfr & 1.00 X M/A = s
it m
oo T




Bl &

N o Al H XA il PN B R
] BRG] X m/A = &
E-HEHRETHRE Berm (A) X M/A = 5]
11 FEmA H el (B) 1.00 X M/A = s
el (C) 1.50 X /AN = s}
= 1.00 X M/A = ]
it s
] BRG] X M/ = &
EEEEETHHE Berm (A) X M/A = as|
12 FAEMER H Brf (B) 1.00 X M/A = s
feim (C) 1.00 X /AN = s}
= 0.50 X M/A = ]
it s
EIE=XER 3] 0.50 X m/A = ]
16% AN (A) 0.50 X M/A = M
1) 35 A5 FIF e el (B) 0.50 X M/A = ]
el (C) X M/ = s}
el 5 X M/A = s
it s
EIE=XERs3] 0.50 X M/A = ]
ke Y Hefl (A) 0.50 X m/AN = 5]
2) il el (B) 0.50 X m/A = M
el (C) X /AN = as}
= X M/A = ]
it M
EIE=XERT] 0.50 X m/A = ]
e Berm (A) 0.50 X M/A = |
3) SR AR A IRE o Al (B) 0.50 X M/A = M
el (C) X M/ = s}
il 5 X M/A = ]
it M
EIE=XER ] 0.50 X m/A = M
WMEEFER Berm (A) 0.50 X M/A = as|
16 H el (B) 1.00 X M/A = M
Him (C) 1.00 X /AN = s}
i & 1.50 X M/A = s
it M
M| B % 7= 0 BEIRER 1.20 h
A4 PNV HERE VE 2707 1.20 X 2.6 0/h = 3.120 0
17 (1500cc) H 3.120 % Mo = ]
PR (h) 1.20 X M/h = sl
BEp AR (R ) I x m/BE = ]
it M
M| THERASTHER 2 X H/a = | i
REEAM B EE AR 1 x m/6 = M
TR AR RFIR 5 X m/& = |
(& A=) h—a-y 20 X M/ = M
A A EE GEARED M
(P51, 0fi5)

18 REIMR =® TN RR 2 X m/f = &}
(N =N IR AR 1 x M/6 = M
H7=a=v FREIAR 5 X m/& = &5}
(H=700, 7%) hg—a-v 20 X M/ = M

/s FF (LA %72 0 S8R M
B & et 15 X M/H = e s tiE )
minl5H
& & GEREH-EEEXA) = M

FLoog T




